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BERNREK SHSEE S BEM/ — I R— MR R E(-13m(HB)TE

£ R K - BKTE B B = B O ® &8 =
EEIZE 171,549, 904
FEE(-13m B 171,549, 904
HFEET 158, 707, 404
REGB 38, 583, 764
BRHE 38, 583, 764
1 Bt EH8E 32.00 1,155 36, 960
#
2 Mt BERE(ERE) 60. 00 39, 900 2,394, 000
#
3 It BT 92.00 1,785 164, 220
#
4 BEIRE{T 3. 0Ax 50EH! 92.00 371, 950 34,771, 400
1&
5 BRAEBBH IS (K2 1) () I B WE AMP16m 55400 L=3.9m 16.00 50,916 814,656
EL
6 ERMBBEHES (K> 1) Q) MU (B CMAR) AWM 16m 55400 L=2.Tm 8.00 50,316 402, 528
&
REBEEL 120, 123, 640
REBE 120, 123, 640
1 BRIGHERE 1,168.00 21,614 25, 245,152
m2
8 REHBEBEBIMHE 1.00 16, 726, 200 16, 726, 200
=
9 RERE TH1LE 1,828.00 6, 490 11, 863, 720
m2
10 REBEERMARMER 1,828.00 11,927 21, 802, 556
m2
1 iﬁ)?&%*ﬂtﬂﬁﬂtﬁglrﬁ#’/ﬁﬂﬁﬁ %gﬁ%%iﬁﬁllﬂf#-&&ﬁﬁﬁ% 1/EH (1. Okg/m2 1, 828.00 11,927 21, 802, 556
£ u
m2




BERNREK SHSEE S BEM/ — I R— MR R E(-13m(HB)TE

£ R g - BKTE B B = B & ® &8 =
12 REHEBKPELCEIRF HEE EBREIUEIFTREOHEEE 28R (1. 0ke/m2 1,828.00 11,927 21, 802, 556
3
%@ 500 1) 2
13 THILE (hEZEEL) 100. 00 8,809 880, 900
m2
BEYEET 2,597, 600
BrEEET 1,434,000
EETE 1,434,000
14 FEEET (EEIE) 1.00 1,434,000 1,434,000
BiED
VUEINHIET 1,163, 600
RTAIE 861, 000
15 VUM (RTAIE) 1.00 861, 000 861, 000
BiED
BEFAIE 302, 600
16 VUEINEEI (BEEATLR) 1.00 302, 600 302, 600
BiED
BEYMRET 2,985, 953
RELT 2,985, 953
BEL 2,833,324
17 329 ) — bR LI#TIR = 5om 39.00 1,089 42,41
m
18 2>y )—rEUEL (FWRY) B 22.00 105, 162 2,313, 564
m3
19 a2y ) — FanEHk E3 22.00 1, 655 36, 410
m3
20 SXERLIET - W= (D D13 30.00 4,020 120, 600
.




BERNREK SHSEE S BEM/ — I R— MR R E(-13m(HB)TE

% R g - BT B = B & ® &8 B =

21 SkErvIET - #E (2 D25 39.00 4,034 157, 326
X

22 SRARUIMET - HrehlS D13 39. 00 4,020 156, 780
X

23 TR 7L IBR LIETIE S 9cm 8.00 575.1 4,600
m

24 7RI 7L MEERE t=9cm 3.00 178.9 536
m2

25 7RI 7L FRREE 0.30 3,457 1,037
m3

fRAERE 126,192

26 {RAIEIRE TOOKNE# 3.00 41,790 125,370
=

271 a2y 1) — FEOEK B 0.40 2,056 822
m3

HibEE 4,853

28 BHIFEUERL 20cm x 20cm 0.50 8,053 4,026
m3

29 a2y 1) — FEEK i3] 0.50 1, 655 827
m3

w5 21,584

30 oYy U— kLS (1) B 0. 40 1,020 408
m3

31 vy )— ks (2) i3] 23.00 869 19, 987
m3

32 PRI 7IL LR 0.30 3,966 1,189
m3

FET 7,030, 094

LEIEIBT 7,011,959

XR 158, 242




BERNREK HHSEEBSBEH/ R — MR 13m(R BT
% R B - KR BT = i * &

33 XERAEITAESH 7.00 22,606 158, 242
m

A5 137, 460

34§k THASL (1) SD345 D13 30. 00 202 6. 060
kg

35 $kFAANTHESL (2) SD345 D16 216. 00 200 43, 200
kg

36 £ THASL (3) SD345 D25 441.00 200 88, 200
kg

Bt 332,574

37 WBE AT 33.00 10,078 332,574
m2

avyy—+ 453, 456

38 oY) — MTE 24-12-25(20)  W/C=55%LLF 24.00 18, 894 453, 456
m3

[EXi 2 4,965, 271

39 fRARHEET 1000KNEH 4% 3.00 1,591, 900 4,775,700
£

40 {RMEZEE R 1000KNER4E:  (BRIZHAE +ERAT) 3.00 55, 335 166, 005
£

AR Y 3 1000KNEH4: (T2 + _E2E2[E) 6.00 2,340 14, 040
m2

42 hEEasyy—+ 24-12-25(20)  W/C=55%LLF 0.50 19, 053 9,526
m3

Bk 964, 956

43 EIEEE 20cm x 20cm 12. 00 39, 400 472, 800
m

44 r—JEY FREEEIR AFEZEAR 100 x 100H 4.00 25, 604 102, 416
m

45 3—F—HMEIR FILIE(/—TNLEAT) 26. 00 14, 990 389, 740




BERNREK SHSEE S BEM/ — I R— MR R E(-13m(HB)TE

& g g - AR B #H 2 B € # =
BET 18,135
B 18,135
16 = t=bem ANEI BEZFHMET7 X2 (20) 3.00 3,169 9,507
m2
47 EE t=4cm ANEI BEMHMET7 X3 (20) 3.00 2,876 8,628
m2
T 228, 853
T 228, 853
BREX B R = 31,997
48 oV 41— MEIF ¢ 100 L=300mm 4.00 6, 482 25928
R
49 avy)—+rFRY 0.02 31,770 635
m3
50 EREE(NRA VTR 5.07t/#% 2.00 2,111 5,434
"
BRE% i hR AR 4 196, 856
51 ERIEMF(1RA4 VTR) 5.07t/#% 2.00 2,717 5,434
"
52 BB E 1.00 190, 000 190, 000
=
53 EILAZILFE akRt1:2 0.03 47,413 1,422
m3
HBRERE (L) 1,532, 063
HBRER 1,532, 063
HBRER 1,532, 063
T E 1,432,063




BERRE

BHSFEERSHEH A —IR—MR)FE-13mEHR)TE

R - RKT & BifL 2 il ® #

TEXNE 1,432,063
54 Z2EHE 1.00 196, 557 196, 557

=
55 RRER 1.00 1,235, 506 1,235, 506

=
HitEEE 100, 000
i g 100, 000
56 KifTEEE FREABRAZT(1IH) 1.00 100, 000 100, 000
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£ g R - KSR Bifr B 2 B i & B W =
EREIEE 171, 549, 904
MEIEE 13,540, 445 + 43,514, 741 57,055, 186
HERERE GDH 1,532,063 + 11,133,588 + 874,794 13,540, 445
HBRBE (FEL) 1,532, 063
HBERER (R) 171,549,904 x 6.49% ((4.36% x1.00 +2.00% x 1.02) 11,133,588
RISRERER 171,528,320 x 0.51% 874, 794
Regng 185,090,349 x 23.51% ((21.28% +1.55%) x 1.03) 43,514,741
T=Rfl 171,549,904 + 57,055, 186 228, 605, 090
—REEES 228,605,090 x 15.31% (15.31% x 1.00) — 5,971 34,993, 468
KRR HE 228, 605,090 x 0. 04% 91,442
T &l 228,605,090 + 34,993, 468 + 91,442 263, 690, 000
HEREELE 263,690,000 x 10.00% 26, 369, 000
HATRE 263,690,000 + 26, 369, 000 290, 059, 000
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DHSEEBEEEH/ N\—IR— MR EEC13mMBER)TE

&5 1
2% Rt ERE 18 (FB1E3 OfE) 1Y (3048)
2 b g - BIRTE By = B O %8 W = " =
mftE&ERE
#2 30.00 1, 155. 00 34, 650
& Hi 1EZ%HEH - 30. 0048 1, 155. 00 34, 650
&5 .2
£ Rt BERE (ERE) 18 (1% 3 Of) 1Y (3048)
2 b g - BIRTE By = B O %8 W E " =
mftE&ERE #ErEA
#2 30.00 39, 900. 00 1,197, 000
& Hi 1EZ%HEH - 30. 0048 39, 900. 00 1,197, 000
5.3
2% Rt BT 18 (3% 3 OfE) 1Y (3048)
2 b g - BIRTE By = B O %8 W E " =
Bt B E Tt
#2 30.00 1, 785. 00 53, 550
& Hi 1EZ%HEH - 30. 0048 1, 785. 00 53, 550
Hz5:4
L [BABET 3. 0Ax 50EH! 1B34Y (184@)
2 b g - BIRTE By = B Ol %8 W = " =
TILE ZH LERBIE 3. 0A X b0ER
& 18. 00 358, 000. 00 6, 444, 000
4B ER il L THEERBE V L—2iAdH
#2 18. 00 19, 950. 00 359, 100
& Hi 1YEZHES - 18. 001@ 377, 950. 00 6, 803, 100
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SHSEERB L EEH/ A —IR—MER)REE13m(BR)ITE

F5 .5
£ EXMEESMEREGRY R (1) MRS EE L HE) Atlo16mm SS400 L=3.9m SERTL Y
2 b g - BIRTE By = B ® W = " =
Ry KA SS400 @ 16mm  L=3.9m
ZN 5.00 1, 800. 00 9,000
EKHEER
A 0.20 41, 580. 00 8,316
BKE
A 2.00 41, 580. 00 83, 160
BKERKE
A 1.00 217,090. 00 217,090
BKESE
A 1.00 217, 830.00 217,830
LTEEXE
A 2.00 21, 840. 00 43, 680
AVZZ 0l b RRY 4138 2.9t/
B 1.00 40, 540. 00 40,540 5. 80H / 8H
R F3) D300A
B 1.00 5,462.00 5, 462
MR FHEEDY
% 5.00 190, 076. 00 9,503
& B 1YE%HEDH - 5. 00 FRr 50, 916. 00 254, 581
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SHSEERB L EEH/ A —IR—MER)REE13m(BR)ITE

&S .6
£ EXMEESMER R F) ) #ESEHE SHMRR) il 16mm  SS400 L=2. Tm SERTL Y
2 b g - BIRTE By = B ® W = " =
Ry KA SS400 @ 16mm  L=2. 7m
ZN 5.00 1, 200. 00 6, 000
EKHEER
A 0.20 41, 580. 00 8,316
BKE
A 2.00 41, 580. 00 83, 160
BKERKE
A 1.00 217,090. 00 217,090
BKESE
A 1.00 217, 830.00 217,830
LTEEXE
A 2.00 21, 840. 00 43, 680
AVZZ 0l b RRY 4138 2.9t/
B 1.00 40, 540. 00 40,540 5. 80H / 8H
R F3) D300A
B 1.00 5,462.00 5, 462
MR FHEEDY
% 5.00 190, 076. 00 9,503
& B 1YE%HEDH - 5. 00 FRr 50, 316. 00 251, 581
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SHSEERB L EEH/ A —IR—MER)REE13m(BR)ITE

&5 .1
2% BRIBHRERE 100m2 %Y
2 b g - BIRTE BT o = B O ® W = " =
RIGHRMEE (£18)
m2 100. 00 9,753.10 975, 310
HEER
A 3.00 27,410. 00 82,230
U
A 12.00 26, 460. 00 317,520
HIRIEXS
A 12.00 24, 680. 00 296, 160
LTEEXE
A 12.00 21, 840. 00 262, 080
AVZZ 0l b RRY 4138 2.9t/
B 3.60 40, 540. 00 145,944 5. 80H / 8H
R EHE (BB X5 ERE) 45kVA
B 3.60 8,187.00 29,473
MR 2E0%
% 2.50 2,108, 717.00 52, 117
& B YEZERES : 100.00m 2 21,614.00 2,161,434
5.8
£ REHEBEIMHE 1LY
2 b g - BIRTE BT #H = B Ol ® W E " =
REHEEM KPEE R TR D Rte 2R (RihEAZEH)
k g 1,828.00 3,570.00 6, 525, 960
REHEEM JKERREE R TR S #tlg
k g 3, 656. 00 2,790.00 10, 200, 240
& Hi 1E%HeH - 1.00K 16, 726, 200. 00 16, 726, 200
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SHSEERB L EEH/ A —IR—MER)REE13m(BR)ITE

#5 .9
¥ REBEE THOE 100m2%HY (100m2)
£ 5 L - BIRTiE BT = L= i %5 = " =
HER%
A 1.21 27, 410. 00 33, 166
BREx£a
A 6.09 24, 680. 00 150, 301
TEFEE
A 7.30 21, 840. 00 159, 432
BET
A 7.30 26, 670. 00 194, 691
gL—ftb5vy At7E 2.9tR
=] 1.21 40, 540. 00 49,053 5. 80H / 8H
HENF TR (HiH 7 R 5 RE) 45kVA
=] 1.21 8, 187. 00 9,906
BUkE 3800L
=] 0.24 37, 715. 00 9,051/5.50H / 8H
ITERSELSH
=] 1.21 13, 735. 00 16,619
HEMH FHEEDY
% 5. 00 537, 590. 00 26, 879
& %85 - 100.00m 2 6, 490. 00 649, 098
E5 .10
£ REEBERMAEMER 100m2% Y
£ 5 L - BIRTiE BT = L= i %5 = " =
HER%
A 2.43 27,410. 00 66, 606
BREx£a
A 14. 61 24, 680. 00 360, 574
TEFEE
A 14. 61 21, 840. 00 319, 082
BET
A 14. 61 26, 670. 00 389, 648
HEMH FHEEDY
% 5. 00 1,135, 910. 00 56, 795
& %85 - 100.00m 2 11,927. 00 1,192, 705
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&5 11
£ REEEKFEEE RS OBERE () EERERFITAT OHEERE 1BB (1. Okg/m2 500 1) 100m2 %Y
2 b g - BIRTE By = BHO(f %8 W = " =
HEER
A 2.43 27,410. 00 66, 606
HIRIEXS
A 14. 61 24, 680. 00 360, 574
LEEXS
A 14. 61 21, 840. 00 319, 082
BET
A 14. 61 26, 670. 00 389, 648
MR FHEEDY
% 5.00 1,135, 910. 00 56, 795
& B YEZERES : 100.00m 2 11,927.00 1,192, 705
&= 12
£ REGEEKFEEE RS OBIERE Q) EERERFITATOMHEERE 288 (1. Okg/m2 500 1) 100m2 %Y
2 b g - BIRTE By = BHO(f %8 W E " =
HEER
A 2.43 27,410. 00 66, 606
HIRIEXS
A 14. 61 24, 680. 00 360, 574
LEEXS
A 14. 61 21, 840. 00 319, 082
BET
A 14. 61 26, 670. 00 389, 648
MR FHEEDY
% 5.00 1,135, 910. 00 56, 795
& B YEZERES : 100.00m 2 11,927.00 1,192, 705
&5 .13
& THAEBDEELEL) 100m2 %Y
2 b g - BIRTE By = BHoO(f %8 W = " =
hEEEL
m2 100. 00 7, 350. 00 735, 000
AVZZ 0l b RRY) 4138 2.9t/
B 3. 60 40, 540. 00 145,944 5. 80H / 8H
& Hi YEZERES : 100.00m 2 8, 809. 00 880, 944
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SHSEERB L EEH/ A —IR—MER)REE13m(BR)ITE

&S 14
&% BEBEI(EEIX) 1HEEmHY
2 b g - BIRTE By = B O ® # " =

HEER

A 11.730 27,410. 00 321,519
HIRIEXS

A 19. 380 24, 680. 00 478, 298
LEEXS

A 12. 750 21, 840. 00 2178, 460
BT E ISR R T—t A2 FREEIESEM

m3 0. 602 395, 000. 00 237, 790

EME (E+FEHH) FHED%

% 11. 000 1,078, 277.00 117,933
& Hi YEZERED - 1. 001BEW 1, 434, 000. 00 1,434, 000
&5 .15
£ VUEINW@EIEI (ETATIE 1HEEmHY

2 b g - BIRTE By = B O ® # " =

HEER

A 7.740 27,410. 00 212,153
HIRIEXS

A 11.700 24, 680. 00 288, 756
LEEXS

A 10. 260 21, 840. 00 224,078
ECAMHRE R T—t A2 FREEIESEM

k g 60. 720 211.00 12, 811
EME (E+FEHH) FHED %

% 17. 000 724, 987. 00 123, 202
& Hi YEZERED 1. 001BEW 861, 000. 00 861, 000
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&5 :16
£ VUEINW@EIET BEEEALR) 1HEEmHY
2 b g - BIRTE By = il 4 ) # " =
HEEE
A 2.030 217,410.00 55, 642
HIRIEXS
A 3. 360 24, 680. 00 82,924
LEEXS
A 2.485 21, 840. 00 54,272
EAM IRF IBAEAR > FE206W
k g 11. 600 2, 400. 00 217,840
S— L Rk E380
k g 10.412 1, 920. 00 19, 991
EEIAZRE 50ml
& 140. 000 360. 00 50, 400
EME (E+FEHH) FHED %
% 6. 000 192, 838. 00 11, 531
& Hi YEZERED ;1. 001B:EW 302, 600. 00 302, 600
&5 11
B aro— hUER  UIETE E5cm Tm%Hy
2 b g - BIRTE By = il 4 ) # " =
avyy)— LIBTE E5cm
m 1.000 1,089 1,089
= it YEZEREDN - 1.00m 1,089 1,089
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SHSEERB L EEH/ A —IR—MER)REE13m(BR)ITE

&5 :18
& arvo)—rEIEEL (FFRY) FH 10m3%Y
£ 5 L - BIRTiE BT = L= i %5 i " =
HER%
A 8.00 27,410. 00 219, 280
BREx£a
A 16. 00 24, 680. 00 394, 880
TEFEE
A 16. 00 21, 840. 00 349, 440
S EHMaYI)— T L—H] BH220kgik
B 16. 00 269. 00 4,304
R EHEHE (BEE A X5t ERED) 3.5~3.7m3/min
B 8.00 6, 852. 00 54, 816
HEMH FHEEDY
% 3.00 963, 600. 00 28,908
& B YEZERESN - 10.00m 3 105, 162. 00 1,051, 628
&5 :19
& avy)—  EOERR &S Im3%Y
£ 5 L - BIRTiE BT = L= i %5 i " =
aVH ) — FEER |\
m3 1.000 1, 655 1,655
& Hi 1E%HEH : 1.00m 3 1, 655 1,655
&5 :20
& SkERLIER - 8= (1) D13 100K%Y
£ 5 L - BIRTiE BT = L= i %5 i " =
BET
A 8.00 28, 140. 00 225,120
TEFEE
A 8.00 21, 840. 00 174,720
BETEFLY RN
k g 0.80 1,810.00 1,448
[P RN
m3 1.90 405. 00 769
& Hi YEZERESN ;- 100. 00K 4,020.00 402, 057
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SHSEERB L EEH/ A —IR—MER)REE13m(BR)ITE

&5 21
¥ . SkERUIET - 1= (2) D25 1004 % Y
2 b g - BIRTE By = B 4 ) # " =
BET
A 8.00 28, 140. 00 225,120
LEEXS
A 8.00 21, 840. 00 174,720
BETEFLY RN
k g 1.30 1,810.00 2,353
m3 3.00 405. 00 1,215
& Hi YEZERESN ;- 100. 00K 4,034.00 403, 408
&5 .22
L SXFUIET - frehiF D13 100K Y
2 b g - BIRTE By = B 4 ) # " =
BET
A 8.00 28, 140. 00 225,120
LEEXS
A 8.00 21, 840. 00 174,720
BETEFLY AR
k g 0.80 1,810.00 1,448
m3 1.90 405. 00 769
& Hi 1YEZHEH - 100. 00K 4,020.00 402, 057
&5 .23
B TRAT7IL LU LIBRE S 9cm Tm&Ey
2 b g - BIRTE By = B 4 ) # " =
TR 7L SR PIBTE E9cm
m 1.000 575.1 575.1
& Hi 1EZHESN - 1.00m 575. 1 575.1

10
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SHSEERB L EEH/ A —IR—MER)REE13m(BR)ITE

E5:24
Z ¥ TR 7L MEEEEHE t=0cm Tm2%yY
2 b g - BIRTE By = il ) # " =
FARI7IL b EEEE t=9cm
m2 1.000 178.9 178.9
& Hi 1E%HEH : 1.00m 2 178.9 178.9
&5 :25
B TR I 7IL FRGERE Tm3HyY
2 b g - BIRTE By = il ) # " =
T AT 7IL ERER
m3 1.000 3, 457 3, 457
& Hi 1E%HEH : 1.00m 3 3, 457 3,457
&5 :26
LT RAAERE  TOOKNEh 4 1HEY (2F)
2 b g - BIRTE By = il ) # " =
RS 17 A51 73150kN~ 1000kN R i
= 2.00 41, 790. 00 83, 580
& Hi 1E%HEDN : 2. 00K 41, 790. 00 83, 580
&5 :21
& avy)— B A Tm3%Y
2 b g - BIRTE By = il ) # " =
aV9 ) — hEERR B
m3 1.00 2,056 2,056
& Hi 1E%HEH : 1.00m 3 2,056 2, 056
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DHSEEBEEEH/ N\—IR— MR EEC13mMBER)TE

&5 :28
£ %5 BEAEEUER L 20cm x 20cm 10m3 %y
£ 5 L - BIRTiE BAf H = B %5 i " =
EEEE Y (B8R % IE B ) B #MEREL s
m3 10. 00 8,053.00 80, 530
& Hi YEZERESN - 10.00m 3 8,053.00 80, 530
&5 :29
& oYy ) — B B Tm3%HY
£ 5 L - IRTiE BAf H = B %5 i " =
avy ) — B |\
m3 1.00 1, 655 1,655
& Hi 1E%HEH : 1.00m 3 1, 655 1,655
&5 :30
S arvo)—rROH () BHH 100m 3% Y
£ 5 L - BIRTiE BAf H = B %5 i " =
a9 ) — RN E AHfHCon
m3 100. 000 1,020. 00 102, 000
& Hi YEZERES : 100.00m 3 1,020. 00 102, 000
&5 : 31
B Ao )— RO () B 100m 3% Y
£ 5 L - BIRTiE BAf H = B %5 i " =
a9 ) — RN E #EFFCon
m3 100. 000 869. 00 86, 900
& Hi YEZERES : 100.00m 3 869. 00 86, 900
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DHSEEBEEEH/ N\—IR— MR EEC13mMBER)TE

&5 .32
Z . TR I 7IL bERLS 100m3 %Y
2 b g - BIRTE BT o = B O %8 # " =
N TAIZ7IL LR
m3 100. 000 3, 966. 00 396, 600
& B YEZERES : 100.00m 3 3, 966. 00 396, 600
&5 .33
¥ ZRMAILAS 100m& Y
2 b g - BIRTE BT H = B O %8 # " =
TR SN FAERRN) yL—rtkE
m 100. 00 21,525.00 2,152,500
STFL—29L—r A AR ER) ChEES IR 16tH
B 2.10 51, 500. 00 108, 150 8H
& Hi YEZERESD : 100. 00m 22,606. 00 2, 260, 650
534
2 $kERMMIT AL (1) SD345 D13 1000k g Y
2 b g - BIRTE BT H = B O %8 # " =
% (2 SD345 D13
k g 1,030. 00 117.00 120, 510
SR T AT (EEPTE4E) yL—rtkE
k g 1,000. 00 76. 65 76, 650
STFL—29L—r A AR ER) ChEfES IR 16tH
B 0.10 51, 500. 00 5,150 8H
& Hi YEZERESN - 1,000.00k g 202.00 202, 310
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DHSEEBEEEH/ N\—IR— MR EEC13mMBER)TE

&5 :35
L $kERINIT#ESL (2) SD345 D16 1000k g &Y
2 b g - BIRTE BT o = B O %8 # " =
% (2 SD345 D16
k g 1,030. 00 115.00 118, 450
SR T AT (EEPTE4E) yL—rtkE
k g 1,000. 00 76. 65 76, 650
STFL—29L—r A AR ER) ChEfES IR 16tH
B 0.10 51, 500. 00 5,150 8H
& Hi YEZERESN - 1,000.00k g 200. 00 200, 250
&5 : 36
2 $kERM TR~ (3) SD345 D25 1000k g Y
2 b g - BIRTE BT H = B O %8 # " =
% (2 SD345 D25
k g 1,030. 00 115.00 118, 450
SR T AT (EEP T &) yL—rtkE
k g 1,000. 00 76. 65 76, 650
STFL—29L—r A AR ER) ChEfES IR 16tH
B 0.10 51, 500. 00 5,150 8H
& Hi YEZHeH : 1,000.00k g 200. 00 200, 250
&5 :317
75 SRBRAAT SN 100m2 %Y
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